R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Drawings\TX-4565-68.dwg, TX-4567

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225

GLAZED WOOD DOOR

with ARCH TRANSOM

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Wood Door described herein complies with the 2006 International Residential Code
(IRC), Sections R301 & R613 and the 2006 International Building Code (IBC), Sections
1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the following

conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies with
Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering

analysis.

TABLE OF CONTENTS

SHEET #

DESCRIPTION

Typical elevation, design pressures & general notes

Door panel & glazing details

Elevations

Horizontal cross section

Vertical cross sections

NN O | BAWIN|[—

Frame anchoring

Bill of materials & components

135" MAX. OVERALL FRAME HEIGHT

74" OVERALL FRAME WIDTH

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

37.5" OVERALL
FRAME WIDTH

1.75" ——| |=—

98.5" MAX. OVERALL FRAME HEIGHT (INSWING)
97.25" MAX. OVERALL FRAME HEIGHT (OUTSWING)

I

120" MAX. OVERALL FRAME HEIGHT

B DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
CONFIGURATION | FRAME s INSWING OUTSWING
DIMENSION POSITIVE |NEGATIVE | POSITIVE |NEGATIVE
% 37.5" x 120.0" G1 +55.0 -55.0 +55.0 -55.0
& 740'x1350" | G1 | +550 | -55.0 | +55.0 | -55.0

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

PRESSURES & GENERAL NOTES

=

&}

0

2 o

o <

nS =

o ;c:)

ZQ>—<(

<< J =

Q |0 O

nO =

LuCED 7]

ﬁ (] ]

TS

= x| =

= o &

o

o &
o <
o o

>_

28]

Lo

I_

<

()]

o

zZ

REVISIONS

oaTE: 9/29/15

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LES

DRAWING NO.:
TX—4567

SHEET 1

oF 7

© 2015 R.W. BUILDING CONSULTANTS INC.



R:AClients\Steves and Sons - Permanent\B - Texas Dept of Ins\Drawings\TX-4565-68.dwg, 2.3

. DOOR PANEL

&Y N/

17 S P, \.. g
7.31" ' 2 D iQ: 6’3\92?‘1) E 23 o ES
‘ b FarT gz Ex B uB
N = q Sui briQio a2 |% €8 g]
\ g = e (I Tt | P T
! S o Soi PNiwis Ziaglleg 4E2 o=
= <, T / oy 2R SR |28 289 33
== : oy 0~ SN |EE Zeg 6o
/ A N
> = 4 Pl Z e X 2w
- IT0o o) L FS RSSO, g8e D
LATCH, HINGE STILE 2 i nioe®™ @ oSS ¥
|~ ToPRAL Nog / 3 285 bu
2 ™ 5 g . ¢ .
R & 502 gu
/1" HORIZONTAL CROSS SECTION > b § dst £X
\2/ 72.5" MAX. D.L.O. WIDTH } 2 § 0 E
o 4
L7 74" MAX. TRANSOM WIDTH | : SOl-E:
@ TRANSOM PANEL ., . 8
36" MAX DOOR -
PANEL WIDTH
18 GA. X 1-1/2" /é v “
7= Z =
LONG BRAD NAILS S o
@ EAIEFIOR INTERIOR (1" FROM CORNERS e N ‘\@ s L?:E
o
Ly &6"0.C. =2 |5 Sy
@/ ) L ) EXTERIOR INTERIOR <3 |9 «2
] = =& PANEL INSERT GLASS STOP ‘gg 3 83
— /"2 VERTICAL CROSS SECTION ("5 VERTICAL CROSS SECTION LB YT
J/ 2/ 2/ sl |8
/ A 8 E
21.25' MAX. D.L.O n 2 .
TN | [ womme) - @\ S =t 5
2/ 7 = Q&& 1.45" ~|
= TRANSOM GLASS STOP
O
= i ™~ BOTIOM .
o : RAIL 147" |=— |
T O <
— -1 98]
o X o N ] 3
= @) >§< . 18 GA. X 1-1/2" - m
> 2 3 LONG BRAD NAILS 5
< 5 'y A 2 (1" FROM CORNERS y—— o
% o &6'0.C.) S oy
O L{) . .
m "
/// 2 (TYP.) j 3/4" THK. GLASS
== == " Ll
. _— VBTEMP. <
/ §§§ — ~=—— AIR SPACE =
. S— =z
= qr = 1/8" TEMP. DATE: 9,/29/15
7 TREMCO "DYNAMIC" POLYURETHANE owe. B: UK
(2 17— GLAZING COMPOUND e
GLAZING DETAIL DRAWING NO.:
/ 3\ VERTICAL CROSS SECTION (C4"\ VERTICAL CROSS SECTION (G1)SLAZING DETAL 567

SHEET 2 oF 7/

© 2015 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaaing

‘MY s Loz Qg

ZS8LL—d4 # NOILVYLSIOZY 40 31vOIdILy¥3D SNOISIA3Y V3 ToN
SYIINIONI VNOISSII0Hd 40 Q¥vo8 Svxal SNOLLVATTI A8 L © ol 5 is. 7_
LBLB'6S9°CL8 'ON Buoyd : N =™ © |y
GBSEE 14 OSUIPA OSZ Xog .O.&gg A1GNISSY ¥0 1¥vd m m - i % o
"ONI ‘SLNVLINSNOD ONIGTING N . 2 | 3_
¥00a AOOM o 1&|5le &
SZLYOL# "3'd Svxal SNOS ANV S3A3LS wldle| |2 &
‘J'd ‘IPIWYDS ‘4 uopukd :Ag paiodaid sjuswnoog 119N00Y¥d SI813|3 m S
I~
//
X S o )
™ (v S
S
IL
fio _v nn”% O_ X
fim O @) Hn”%_ X
N~
~
>< St
NS
//
///
(T2 2L 7]
>
mw
" 0
= = 2
< 33
5 s
o ..
< o =
= 1.. 8
m = 4 m =)
< 1z =
n | a
(NN}
i i
w
(-4
Ll
| :
[T
o~ =
- o oOpb & pE—
AN
[
////
2 ~
_. > | ol<|e)Ol>
™| ////
N (0

£'¢ 'BMP'89-595H-X 1\sBuimel\su] Jo 1daq sexa] - g\luauewlad - SUOS pue saAdlS\siudlD\Y



"ON| SLNVLINSNOJ aNIaaing

MY s Loz Qg

2G8LL—d4 # NOILVYLSIOZY 40 3LVOI4ILY3D G mzo_w_>mm 3IVa ON
SY3IINIONT TIVNOISS3I40¥d 40 adv0og SvX3Ll i
Lol6'6ss e e FoN ouoL SNOILO3S SS080 TVINOZIMOH m S M S W _H_
G6SCS ™14 OdMIPDA OgZ xog .O.mgg *A18W3SSY ¥O Ldvd m _M = -1
‘ONI ‘SINVLINSNOO 9NIaliNg / ANu | 4_
4000 aoom > 5l E|e X
CZLYOL# "3'd Svx3aL SNOS ANV mm>mtm|l i M o <2 &
‘3'd ‘IPIWYDS "4 uopukl :Ag paipdaid sjuswnsoqg :10NA0Yd 519 W W @ =
S/ 70
s r ek
)u.t{/\w )_Azo\m,, -~
FRetiee .....«...u%eo
Sas )
S37  gzivOh. ey O
[T L NA S
Do ns 4 NOAT.. & =
s 100 2 :
.sx..% % .....‘.0#1.0.. ] z W
-~ ~¥ &.J. W. .....V/\.Q. m «
.............. o =) = =
M X3 1I0 25 ; T &
LIS BCERRR / ¢
. ¢ “‘/_
: It -
|1 Ol
! y =I5
. I S
oL 3
B y [ ” .mu
| I B
y a ”M\
-
T =) ‘//@ m an
25
« Q|2
|3
(O] )=}
|O
Zo P |
SE
o o .uM M ~
: : —®
x - i
L =
= >
Z i v 0%
o o
2 L@ 3 : :
Ol = &
=15 Z A
U=
w|E
W
S) Gl
e
\ m =
\ — m
|3
_ 2[5
_ Q|2
g —® =
_ o5
& 2
|
= oz
> O
L &
= =
= &
Z =
= O
= = =
B QI
o als
oF
2
|2
u=
-
© 2|3
e &
ne—. m .mv
; |3
. 4 Ol5
- v ( y (O
mw
O
z
=
<
wi
=
i
5
]

C-SINK (TYP.)
DRYWALL —\ (? QP

£ 'BMp'89-595-X 1 \sBuimelg\su jo 1daQ sexa] - g\IUBUBWLIAd - SUOS pue SaAIS\SIUdID\Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Drawings\TX-4565-68.dwg, 5.3

EXT. SHEATHING \

18 GA. X 1-1/2"

®/'

BRAD NALL (TYP.)
EXTERIOR

GLASS STOP (TYP.)

A
e
y \\
’ - /DRYWALL
|5 ) —T \@
=) AGH)

Yy,

e

INTERIOR

0.14" MIN.
C-SINK (TYP.)

/1" VERTICAL CROSS SECTION

w Outswing shown (Inswing similar)

INTERIOR

EXTERIOR

®)

" Ve

T

R
;:LT

!?,’, =

7k

N

7//11////.

7213
N\

/“ 4"\ VERTICAL CROSS SECTION

\U Inswing sill

EXTERIOR

)

[AA)

=

AN

INTERIOR

(3

K
37

/"5 "\ VERTICAL CROSS SECTION

INTERIOR

A\

A\}

EXTERIOR

a

@/
O

36

0.14" MIN
-SINK (TYP.)

C

S

_

INTERIOR

)

)

o®

)

0.14" MIN.
C-SINK (TYP.)

EXTERIOR

/" 2"\ VERTICAL CROSS SECTION

w Inswing

@)

W Outswing sill

K ) wooD
D ) CONCRETE

EXTERIOR

mjs

INTERIOR

— N

0.14"MIN

C-SINK (TYP) — '

3 1%

EXTERIOR

111

)
(

;

®)

0.14" MIN
C-SINK (TYP.)

©)

R

/“3"\ VERTICAL CROSS SECTION

W Outswing

4
LN
29 0
o ity x
ES o ]
5 Lz
Wi Um ©
‘o Z N El
L._m 5
(7)) -
6% E o X
oW Z2 o0 2
4= Ltn ©
> HZo @
3 e
2> {0
= L
Zom o
oM b4
5‘ UN'O: o
3 287 %
IB amg (@]
N o
a 250
o S50c¢ %
& Do g
J§ o
E
1)
: x
E ]
2 =
8}
0
)

CERTIFICATE OF REGISTRATION # F—11852

0
Z 2
5x | U8
3 35
%Q s LW
Z 2l Eon
QO |of X
nO EL‘>-'U)
wo LJ %]
= n o
o> |o
- e
= 14
g9 o)
o
o &
o <
o o
>_
m
)
Z
o
2}
o
o
L
'_
<
(o]
o
Z

oaTE: 9/29/15

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4567

SHEET 5 oF 7

© 2015 R.W. BUILDING CONSULTANTS INC.



]
¢
2" (TYP. ol
2X Framing and connection (TYP. 2 5 o Z
to substrate to be design by £% § Y ?
Architect or Engineer of Record. we gm . % L
” :
2 ity g*
YV o\ YW Zo09 335
Q- S BX8 GE
é_? \/ \‘é F E_‘ - 3 > Q QP{_‘
/ = } (TYP.) E . . 83" 98
N . E\l % m % xg n"ﬁl:"
5.25" MAX. O.C. (TYP.) o 3 287 b
== # 1 1 I 1 _{_{ L SEE HINGE DETAIL B 245 ep
] s [ s - oy
- /1 TTQJ 11 I > § 83
f X :
7P = SEEDETAL2 || | 1 E X #8
L 4 = B F 1 E & || 3
: 5 X 5
" O
i DErASIEEl 1t B 1T o f[ ' _sL 9 o
FR:?YASE_/( E N ~d ﬂ R §
- - o
o - | i il E
55 =% SILL (TYP.) e @/ @D’"q N
i 1&g E | wooD 125 < = ARNE
SEE NG 0o g B _ A
DETAIL 3 C % CONCRETE SEE DETAIL 4 =0 % i § S
i | ] L [ | & g |f
- 74 I 11 1 I L Ll -
6" (TYP.) _>| \—Ii; * 3" (TYP.) %{( 4" (TYP) ? E
WOOD X 3 Ry HINGEJAMB  STRIKE JAMB ASTRAGAL
CONCRETE XX
SILL (TYP.) FRAME ANCHORING
2
(@]
)
S
L
o
) N L
4 | [
@ :
DETAIL 1 @ DETAIL 2
Co H 1 Ll
@éz ﬂ :,< Inswing Inswing —— — =
J } fa)
i \ 1/
=
dq
s _ = E%\ = 36 K DATE: 9/29/15
7 SCALE:  N.T.S.
HINGE DETAIL | li)ETA.IL 3 DETAIL 3 DETAIL 4 DETAIL 4 owe. B: UK
nswin i i :
DETAIL1 (F) DETAIL 2 sWing Outswing Outswing Inswing o o LFS
Outswing Outswing DRAW'“&TZSW
SHEET _6 oF _7

R:Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Drawings\TX-4565-68.dwg, 6.3

© 2015 R.W. BUILDING CONSULTANTS INC.



R:Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Drawings\TX-4565-68.dwg, 7.3

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
A 2X FRAMING (G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
F #8 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
K 3/16" PFH [TW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
P #10 PFH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
X 1-3/4" X 4-5/8" SOUTHERN YELLOW PINE MULLION (G >= 0.55) WOOD
1 HEAD AND SIDE JAMB wWOOD
7 WEATHERSTRIP (QLON]) FOAM
8 DOOR SWEEP wOOD
19 | SIDELITE SPACER PVC
20 [ INSWING SILL WOOD
21 | OUTSWING SILL WOOD
22 | 4"x4"HINGE STEEL
23 | #9 X 3/4" PFH WOOD SCREW STEEL
24 | #8 X 3/4" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
33 | SURFACE BOLT SPACER -
34 | SURFACE BOLT (IVES 454 8" LONG) STEEL
35 | #8 X 1"PFH WOOD SCREW STEEL
36 | SURFACE BOLT GUIDE PLATE STEEL
37 | SURFACE BOLT STRIKE STEEL
39 | #10X2"SEXBOLT STEEL
40 [WOOD DOOR PANEL -
45 | ASTRAGAL (MAHOGANY) WOOD
NOTE: WOOD DOOR COMPONENTS: PINE CORE w/ MAHOGANY LAMINATE
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints. _ 18 GA. X 1-1/2"
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo LONG BRAD NAILS

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
3. Concrete anchor table:

STV MR el epeE  E ANCHOR
Tapcon® | 14 L z o
umacon? V& e r o
aveon® | 316" 1-1/4° ¥ 1-1/2"

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing
of wood screws to prevent the splitting of wood.

(1" FROM CORNERS
&6'0.C.)

0.78"

llzlg

1
4

ADCNA
QF.TEY

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

].4"

5.63" =~

@ INSWING THRESHOLD

0.590" GLASS

A‘ BITE

3/4" THK. GLASS

1/8" TEMP.
/

—=—— AIR SPACE

<::) GLAZING DETAIL

1/8" TEMP.

ALUM SPACER

TREMCO "DYNAMIC" POLYURETHANE
GLAZING COMPOUND

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

469" ———

'Ill

2.63"
r\

W”’TM

@ OUTSWING THRESHOLD

n
%] —~J
g 2
o o &=

o Ll
o=k |- 'E%
Z 5 =a

Q | =
no = S5O
wo L O
o= (3 3
— << :’Q‘

|0 | ®

O

S o

a

e} &

@ <

a o

>_
n
Lt
I_
<
o)
o
z

REVISIONS

oATE: 9/29/15

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4567

SHEET 7/ OF 7

© 2015 R.W. BUILDING CONSULTANTS INC.



